<u>Program Name</u>		# of Apps	Hrs/Resp	Burden Hrs
Office of Elementary and Secondary Education				
Technical Assistance for Student Assignment Plans (TASAP)	84.004F	4,000	1	4,000
American History and Civics Education, Academies Program	84.422A	20	40	800
EIR Early-phase Application Package	84.411C	350	16	5,600
American History and Civics Education, National Activities Program	84.422B	100	40	4,000
ARP American Indian Resilience in Education Application	84.299C	30	16	480
Migrant Education-High School Equivalency Program (HEP)	84.141A	40	40	1,600
Migrant Education-College Assistance Migrant Programs	84.149A	45	40	1,800
Javits Gifted and Talented Program	84.206A	200	30	6,000
Grants for the Integration of Schools and Mental Health Systems	84.215M	100	25	2,500
Territories and Freely Associated States Educational Grant Program	84.256A	10	15	150
Comprehensive Center Program	84.283B	110	80	8,800
National Comprehensive Center on Improving Literacy for Students With Disabilities	84.283D	20	40	800
Advanced Placement Test Fee Program	84.330B	60	15	900
Alaska Native Education Program		200	16	3,200
Native Hawaiian Education Program		200	16	3,200
Improving Literacy Through School Libraries Grant Program		1,500	30	45,000
Congressionally Directed Awards (OESE)	84.215K	263	16	4,208
Competitive Grants for State Assessments	84.368A	9	1	360
21st Century Community Learning Centers Program National Technical Assistance Center	84.287E	10	35	350
Expanding Access to Well-Rounded Courses Demonstration Grants	84.424D	10	28	280
Well-Rounded Education Through Student-Centered Funding Demonstration Grants	84.424E	15	60	900
Fostering Diverse Schools Program		60	35	2,100
School Climate Transformation Grant Program-Local Educational Agency Grants	84.184G	440	40	17,600
Project Prevent Grant Program	84.184M	150	40	6,000
National Center on School Infrastructure	84.184R	10	35	350

<u>Program Name</u>	<u>CFDA</u>	# of Apps	Hrs/Resp	Burden Hrs
Mental Health Personnel Technical Assistance Center	84.184U	10	35	350
Supporting America's School Infrastructure Program	84.184K	30	35	1,050
State Tribal Education Partnership Grant Program	84.415A	10	40	400
Native American Language Resource Center	84.415C	20	30	600
Teacher Quality Partnership	84.336S	65	87	5,655
Full-Service Community Schools	84.215J	500	25	12,500
Statewide Family Engagement Centers	84.310A	500	36	18,000
Assistance for Arts Education	84.351A	200	40	8,000
Comprehensive Literacy State Development	84.371A	40	216	8,640
Innovative Approaches to Literacy	84.215G	770	23	18,000
Teacher and School Leadership Incentive Program	84.374A	120	1	9,600
Charter Schools Program	84.282 A,B,&C	90	25	2,250
Charter Schools Program Grants for Replication and Expansion of High-Quality Charter Schools	84.282M	35	25	875
National Leadership Activities Grant	84.282N	35	25	875
Expanding Opportunity Through Quality Charter Schools Program (CSP)-National Dissemination Grants	84.282T	40	1	40
Ready to Learn Program	84.295A	10	40	400
Charter Schools Program: Model Development and Dissemination Program	84.282G	20	40	800
American History and Civics Education National Activities-Seminars for America's Semiquincentennial (AHC Seminars)	84.422C	50	40	2,000
School-Based Mental Health Program	84.184H	300		12,000
Mental Health Service Professional Demonstration Grant	84.184X	250		10,000
SUB-TOTAL:		11,047		233,013
JOB-TOTAL.		11,047	33	255,015
Office of English Language Acquisition				
National Professional Development Program	84.365N	200	20	4,000
Foreign Language Assistance Program- Local Educational Agencies	84.293B	100	0.3	30
Foreign Language Assistance Program- State Educational Agencies	84.293C	20	25	500

<u>Program Name</u>	<u>CFDA</u>	# of Apps	Hrs/Resp	Burden Hrs
Native American and Alaska Native Children in School Program	84.365C	15	1	600
SUB-TOTAL:		335	15	4,530
Office of Special Education and Rehabilitative Services				
Application for New Grants under the Rehabilitation Services Administration (RSA)	84.250P	230	40	9,200
Promoting the Readiness of Minors in Supplemental Security Income (PROMISE)	84.418P	40	50	2,000
SUB-TOTAL:		270	45	11,200
Institute of Education Sciences Statewide Longitudinal Data Systems Grant Program	84.372A	40	15	600
Office of Postsecondary Education				
Hispanic-Serving Institutions STEM and Articulation Program	84.031C	300	30	9,000
Promoting Postbaccalaureate Opportunities for Hispanic Americans Program	84.031M	100	75	7,500
American Overseas Research Centers	84.274A	21	. 2	2,200
Application for Grants under the Demonstration Projects to Ensure Students with Disabilities Receive a Quality Higher Education	84.333A	90	80	7,200
Application for Grants under the Teachers for a Competitive Tomorrow Programs for Baccalaureate Degrees in Science, Technology, Engineering, Mathematics or Critical Foreign Languages with Concurrent Teacher Certification	84.381A	50	40	2,000
Application for Grants under the Teachers for a Competitive Tomorrow Programs for Masters Degrees in Science, Technology, Engineering, Mathematics or Critical Foreign Language Education	84.381B	125	5	625
Postsecondary Programs for Students with Intellectual Disabilities - National Technical Assistance and Dissemination Center Program (PPSID-NTAD) Application	84.407C	25	20	500

<u>Program Name</u>	<u>CFDA</u>	# of Apps	Hrs/Resp	Burden Hrs
Center of Educational Excellence for Black Teachers Program at Historically Black College	S			
and Universities	84.116V	97	40	3,880
Transitioning Gang-Involved Youth to Higher Education Programs	84.116Y	150	40	6,000
Rural Postsecondary and Economic Development Program	84.116W	150	40	6,000
Career and Educational Pathways Exploration System Program		60	75	4,500
National Center for Information and Technical Support for Postsecondary Students With				
Disabilities Program	84.116D	10	24	240
Centers of Excellence for Veteran Student Success Program	84.116G	300	20	6,000
Augustus F. Hawkins Centers of Excellence Program	84.116K	100	40	4,000
Postsecondary Student Success	84.116M	100	40	4,000
Basic Needs for Postsecondary Students Program	84.116N	150	40	6,000
Modeling and Simulation	84.116S	150	40	6,000
Open Textbooks Pilot Program	84.116T	50	40	2,000
Congressionally Directed Awards (OPE)	84.116Z	214	8	1,712
FIPSE Center of Excellence in Spatial Computing Program Application	84.116Q	50	40	2,000
Digital Learning Infrastructure and IT Modernization Pilot	84.116L	50	40	2,000
FIPSE HBCU, TCCU, and MSI Research and Development Infrastructure Program	84.116H	90	40	3,600
SUB-TOTAL:		2,432	37	86,957
Office of Career, Technical and Adult Education				
Juvenile Justice Reentry Education Program	84.051A	50	1	2,000
SUB-TOTAL:		50	1	2,000